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=l EEI A EES 0 Of T 20y 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
fi7.7 ] 9.5 [13.2 N 6 |ESE 3.0 |SE 4.1 |WNW 8.7 |iF Wi - | H2] 7.9 [30.0 | 9.1 | 5.4
2021.3 [12.0 |15.7 |SSW 4.6 [sW 10.0 |SW 10.3 |SSW  19.0 |tk TSI L1] 50 [30.0]6.1]| 6.5
3§20.1 |10.6 |14.9 |ESE 3.1 |Ssw 4.0 |s 4.6 |w 10. 8 | —Kpda 142 H4]10.9 |15.0 | 9.6 | 4.0
410.6 | 2.7 | 7.2 INE 2.1 |NNE 4.0 |NNE 4.6 |E 7.2 |F—HE il 2 2 L3 -l 80| 7.8 3.2
5014.0 | 3.1 | 9.7 [N 5.2 |E 3.0 |ESE 3.6 |NNE 8.2 |Puig S H2)11.4 |40.0 | 9.8 | 3.2
6)18.7 | 7.4 [13.7 |SSW 3.6 [sW 7.0 |SW 5.2 |SW 13.9 |5t E 1% A H4f10.2 | 8.0 57 ] 5.2
7022.1 [12.6 [17.2 [WNw 1.5 |sw 4.0 |sw 5.7 |WNW 1.0 |m§ HhERAN | H4) 9.7 |10.0 [ 6.1 | 1.9
8j18.1 | 9.7 |12.6 |NNE 4.1 |E 5.0 [SE 2.1 |NNW 8.2 [T Ms~ i Eid H3| 4.6 120.0 | 5.6 | 6.5
9)19.7 | 9.9 |14.5 |N 1.5 |SSE 3.0 |s 6.7 |SSW  10.8 |PemE SIS H2Q11.1 |20.0 | 7.2 | 4.6
10§22.3 [11.8 [16.6 |E 3.6 |ESE 4.0 |Ssw 4.1 |\w 7.2 |HerE TR L I H2Q11.6 | 8.0 ] 6.5 ] 3.1
11f22.4 [13.1 [17.3 [N 2.1 |SSE 6.0 [sw 5.2 |SSW 7.2 |His H5)1 828054 1.3
12§24.3 [13.9 [18.7 |SSE 1.0 |SE 3.0 |s 5.2 N 2.1 |ff—HpEE H4Q10.4 | 3.0 5.1 ] 1.9
13§19.2 [10.0 |[11.7 |NE 3.1 [E 6.0 [E 4.1 |NNE 8.7 |& ElF 2 [ F3 -l10.0 | 7.3 | 5.2
14f14.4 [10.0 |12.1 |N 2.1 |ENE 1.0 IN 2.6 |SSW 8.7 |E%&H NG F3 -l10.0 | 4.1 ] 3.0
15§20.0 [11.4 |15.5 [E 3.6 |E 4.0 |ESE 3.1 |NNE 7.2 [EER LR | H3J11.7 ]15.0 | 4.1 | 3.4
16§21.9 [13.0 [17.4 |sw 3.1 |Ssw 6.0 |SSW 5.7 |Ssw 8.7 E L H4)] 9.8 |20.0 ] 9.5 | 4.6
17§27.1 [14.1 [20.7 |sw 5.2 |WSW 8.0 |Wsw 4.6 |WSW 9.8 | & H4)010.6 |15.0 | 3.7 | 2.4
18§21.6 [12.2 [16.9 |E 1.5 |SSE 3.0 |s 6.7 |sw 6.2 |iF % 2 H5]11.6 |20.0 | 3.7 | 1.6
19§21.7 [15.4 [18.9 [sw 3.6 |sw 6.0 |SSW 5.7 |sw 12.9 |=& E XA L1 -l 80| 03] 7.4
20§26.2 |16.4 |20.9 |ssw 1.5 |ssw 3.0 [S 4.1 |WNW 8.2 |HE—MFE ESiE Hif 83|80 1.5] 7.0
21023.2 |14.4 |18.5 [Ssw 2.1 [sw 5.0 |SSW 6.7 |WNW  15.9 Fs—Rrae | H4f11.2 [30.0 ] 8.6 ] 1.9
2227.8 |14.9 |21.0 [N 1.0 |s 4.0 |sw 7.2 |wsw 5.1 1% R H4| 9.8 ] 8.0 |-1.3 |-5.9
23]26.1 |12.0 |19.0 [SW 5.7 |sw 6.0 |WSW 7.2 |sw 1.0 2 F2] 4.2 |10.0 |-3.4 | 2.3
24118.1 | 9.7 |12.5 [N 4.1 |ESE 3.0 |sw 5.7 |WNw 7.2 S H1] 3.1 |40.0 |10.8 | 2.2
25017.7 | 7.6 |13.3 |\NW 4.6 |SSE 4.0 |SSE 6.7 |Nw 7.2 i H4)12.4 35.0 |10.9 | 4.2
26]21.8 |11.2 [16.9 [ESE 2.1 |ESE 2.0 |SSE 6.2 |WNW 9.8 |RE#%I~ & ElE 2 [ H4]10.7 |15.0 | 8.0 | 1.8
27020.9 |15.7 |18.5 |[SSW 6.2 |SSW 7.0 |SSW  10.8 [SSW  20.1 [fE - KR E—FFNEREE [ L1 -1 8.0 6.8 3.7
28]21.0 |12.6 |16.1 |[SW 6.7 |ESE 2.0 |E 5.2 |\ 4.1 |W§—MeRR i H1] 7.0 |30.0 |10.0 | 5.2
29]22.7 |11.2 |16.6 [N 4.1 s 4.0 |s 4.1 |NNW 3.1 | P S H2Q12.8 |70.0 | 9.8 | 1.3
30024.3 |12.5 |18.3 |swW 3.1 |Ssw 5.0 |sw 5.2 |sw 4.1 5% & H4) 8.4 |12.0 | 1.4 |-1.3
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=l EEI A EES 0 OFf T 20F 150 T000m| (06~18h) (18~3F06h) [ & | [ km| O9FF[ 2107
1§25.3 [11.2 [18.2 |NNE 2.6 |ENE 4.0 |E 5.2 |ENE 7.2 |G e | hehn H3J10.4 [12.0 | 5.7 |[-2.1
2§16.5 [10.7 |12.9 INE 2.6 |NE 3.0 [E 3.1 |ENE 5.1 |2 il 2 2 H3) 0.6 |20.0 | 7.2 | 3.5
3020.2 [11.1 [15.0 [N 1.5 |SSE 2.0 |s 4.6 |SSW  11.8 |WilEx & w2 F3fl21]1.8]08] 49
4)23.2 [18.6 |20.4 |sw 11.3 |sw 11.0 |sw 9.3 |sw 27.8 | &M% [l B [ F2l 1.3 130.0 | 6.9 | 5.0
5019.7 |11.2 [13.2 [NE 2.6 |NNE 3.0 |NNE 2.6 INE 12.9 |FiEix & |& 3 -1 4055167
6§17.3 [10.9 [13.7 |E 3.6 [E 4.0 |E 3.6 |NE 3.1 | & 2 F3l 1.9 |25.0 | 7.7 | 7.7
7024.3 [13.3 [18.1 [E 2.6 |SE 2.0 [E 3.1 |WNW 4.1 |5 1% 2 H2Q10.6 | 6.0 | 2.4 | 2.2
8)24.4 [16.7 [19.7 |NNE 2.1 |ENE 2.0 |E 3.6 |E 3.1 | —HE B —FE H5) 6.7 |15.0 | 6.8 | 3.9
9f20.6 [15.9 |17.8 |s 4.1 s 5.0 |SSE 4.1 |s 11.8 |Fkf~ & 5] F3 -l10.0 | 8.4 | 2.5
10§22.0 [15.1 |18.2 |N 1.5 |wsw 1.0 |wsw 2.6 [sw 11.8 |~ & fiif —IRF RN L1 -| 6.0 | 1.O | 5.7
11f29.1 [16.9 [23.1 ]S 3.1 |Ssw 3.0 [s 4.1 |wNW 13,9 |6 [ HiJ11.7 |20.0 | 5.4 | 4.6
12§22.7 [17.9 [20.0 |NE 2.6 |E 4.0 |ENE 2.1 |SE 4.1 |2 2 H5) 1.3 |12.0 | 4.8 | 3.8
13§23.9 [17.1 [21.6 |sw 7.2 |sw 8.0 |sw 7.7 |ssw 17,0 |2 iR 2 2= L1 -l 50| 72| 46
14§26.6 [17.9 [21.9 N 3.1 |ESE 4.0 |E 4.1 |NNE 6.2 |Z—m i H3) 4.8 |10.0 | 6.5 | 2.8
15024.1 [15.1 [19.4 [E 3.1 [E 3.0 |SSE 2.1 |E 4.1 |Witsa BRI H5011.1 |30.0 | 8.1 ] 4.9
16)24.1 [17.8 [19.3 |w 0.5 [Wsw 5.0 |W 5.2 |Ssw 9.8 |—FF= e F2 -l 3.0] 1.8] 3.5
17§27.4 [18.7 [23.0 |SSW 7.7 |sw 10.0 [sw 8.2 |sw 19.0 |=& 1% 2 rF2] 2.8 |15.0 | 2.3 | 0.0
18]24.3 [18.6 |21.1 |N 3.6 |E 3.0 |SE 2.1 |Ssw 3.1 |B%—KW |2 F3lo0.4]80]57] 40
19§21.7 [15.6 [18.3 [N 2.6 |SE 1.0 |SSE 1.0 |E 5.1 [&t%H PN F3 -] 80| 59| 3.8
20016.9 |14.1 |15.5 |N 3.6 |NE 2.0 |ENE 3.1 INE 9.8 |if§ Kifd F3 -l 5.0 50| 2.7
21]25.1 113.9 [18.4 |N 6.2 |Nw .o |[s 4.6 INNE 17.0 [W5—HERY 2w —ism | 12 8.0 30.0 | 1.8 |-2.3
22015.8 |12.8 [13.9 [ENE 2.1 INE 2.0 |NNE 1.0 |SSE 4.1 |Mikix 2 2 F3 -l 4.0 |-1.4 |-1.4
23]15.5 |12.6 [14.1 |NNE 1.5 |E 2.0 [E 3.1 |NNE 3.1 |2 %2 F3 -l10.0 | 2.5 [-0.3
24]23.6 |13.0 |17.4 [E 1.5 |ESE 2.0 |Ssw 3.1 |NNE 5.1 |iF i 2 2 H2) 9.8 | 5.0 1.8 ] 4.9
25024.7 |14.8 |19.1 [ESE 3.1 |SE 3.0 |SSE 3.6 |Nw 8.2 [ 1% — 2 H2Q12.0 |10.0 | 7.7 | 4.8
26]25.9 |17.4 [21.2 [ESE 1.0 [Ssw 6.0 |SSW 6.7 |sW 8.7 |—mrz 2 H5)] 84| 80] 7.2]6.0
270125.0 |19.0 |21.3 [S 3.11s 5.0 |s 7.2 |SSW 8.2 |& i 2 A H5] 4.7 |10.0 | 9.6 | 5.7
28]25.5 |19.2 |21.8 [S 5.7 1s 5.0 |s 6.2 |s 5.1 g%~ & M — I H5] 8.2 |16.0 | 9.1 | 6.0
29]27.6 |20.4 |23.8 [Wsw 7.2 |SSW 6.0 |SSW 5.2 |sw 8.2 |WEf% iz b H4]11.6 |30.0 |10.0 | 1.5
30030.3 |21.3 [25.1 [NNE 1.0 |SSE 5.0 |s 6.2 |ENE 4.1 |WE—RpdiE  [EFFx0E H3)11.0 |10.0 | 7.0 | 4.4
31027.9 |18.8 |24.5 [SSW  10.3 |SSW 8.0 |ssWw  10.3 [sw 24. 2 |REHE 2 B —BERT | IR & 2 F2] 6.7 130.0 | 48] 0.9
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El EEEA EETS IS TO0O0m| (06~18h) (18~F06h) | 7 | R [OOWF[ 21FF
1J18.9 |16.4 [17.3 |E 4.6 |NE 3.0 |E .1 |NE 8.2 |NEE Ton | F3flo0.8]60] 53] 17
2824.7 [15.9 |19.8 |N 2.6 |ESE 4.0 |E 3.1 |NE 6.2 |2 7 H3| 9.3 [10.0 | 6.5 | 3.5
3124.0 [16.4 |19.9 [NNE 3.1 |E 5.0 |E 5.2 |NE 6.2 |2 i) H3| 5.4 [30.0 | 8.7 |-2.0
4§27.4 |15.6 [20.9 |NNW 1.5 |ENE 3.0 |ESE 4.1 |ESE 4.1 |G S H2|13.5 |15.0 | 5.7 | 2.4
5026.9 |16.8 |21.9 [SSE 4.6 |SSE 5.0 |SSE 5.7 | 4.1 |t % — i H5§13.3 |50.0 | 6.5 | 5.4
6]21.9 [19.5 [20.8 |N 1.5 |NNE 2.0 |NNE 2.1 s 5.1 | K[ ElF 2 F2 .0]15.9](0.9
7126.5 [19.6 |22.6 [SSE 1.5 |s 5.0 [S 3.6 |sw 8.2 |BWx Kl - & |F— Wi ra2] 2 0] 2.3 47
8]29.7 |16.3 [23.9 |ssw 4.6 |sw 6.0 |Sw 6.7 [SSW 4.1 |—nEg 2 2 F2 o]l 70| 1.9
9§20.1 |16.7 [18.3 |NE 2.1 |E 3.0 |SE 1.5 |SSE 4.1 |2 %2 F3 0] 1.4 1.6
10025.9 [17.6 |22.0 [SSE 3.1 |sw 3.0 |sw 3.6 |sw 2.1 |2 Bt —IF F3 o) 11] 16
11]23.6 [16.3 [20.2 [E 1.5 [ENE 4.0 |NE 1.5 [SE 6.2 |/l eS| F2 .01 6.0]0.2
12028.8 [16.3 |23.7 [N 3.1 [wsw 8.0 |sw 5.2 [wsw 9.8 |&—nFg B2 [ F2f 7.9 |10.0 | 40| 1.8
13]22.6 [18.5 [20.2 |NNE 2.1 [E 4.0 |ESE 3.1 |NNE 7.2 | A%~ I i F3] 2.8 .0 53] 39
14]26.3 [17.4 |21.6 [NNE 1.0 |ESE 3.0 |SSE 3.6 |W 2.1 | S H2f13.3 [20.0 | 9.2 | 1.5
15028.9 [18.7 |23.2 [NNw 1.5 |s 3.0 |wsw 5.2 |wNw 5.1 | P 1515 — e H2f13.2 [20.0 | 6.3 ] 0.8
16]25.0 [17.4 120.9 [E 4.1 [ENE 4.0 |E 4.1 |\w 4.1 |ig B G H3f1.3 [15.0] 6.3 0.9
170125.7 [17.7 |21.6 |ESE 2.1 |SE 5.0 [S 4.6 |wsw 6.2 |2— g 2 H5| 1.5 | 6.0 | 47| 4.5
18]28.1 [21.8 |24.3 |SW 5.7 [sW 7.0 |SSW 6.2 [Wsw 5.1 [ itk —Wpda | H5) 9.1 0] 81| 4
19128.1 [22.5 |24.8 [ssw 6.7 |S 7.0 |Ssw 5.7 |sw 6.2 |z 2 H5f11.6 [25.0 | 5.5 | 5.3
20§28.8 123.8 [25.9 |sw 8.2 |ssw 9.0 |ssw 8.8 |sw 18.0 AR« i Bk —IERY H5) 5.4 [20.0 ] 9.0 ] 2.7
21§27.0 123.6 [25.2 [S 8.8 [SSE 8.0 |SSE  10.3 [SSW  15.9 |2 S i — g [ T 1 0]80]53
22030.0 |22.8 [26.2 |SSW 7.7 |sw 8.0 [Ssw 7.2 |Wsw o 12.9 |mF i3 H4)13.5 |40.0 | 5.9 | 6.4
23]31.0 |22.7 [26.5 |E 3.1 |ESE 2.0 S 4.1 |NNE 2.1 |2 2 i3 H4| 7.2 [15.0 | 8.5 | 3.7
24131.0 |23.2 [26.4 [NNW 1.5 |sw 5.0 |sw 4.1 |ESE 2.1 |2 Eefl— RN H4] 8.2 0|61 | 1.8
25025.6 |23.4 [24.5 |[ssw 5.2 |ssw 9.0 |ssw 6.2 |sw 8.7 |y % L1 -1 8.0 6.5] 5.2
26032.4 [21.8 [26.8 [sw 5.7 [wsw 5.0 [SW 5.7 [wsw 4.1 | 2 a2 E% IR F2f 7050 [ 0.1 [-1.5
27025.2 |21.1 [23.0 |NE 2.1 |ENE 2.0 |E 2.6 |SE 4.1 |2 = F2 -1 6.0 30| 45
28]30.3 |22.5 [25.5 |S 2.1 |SSE 4.0 |SSW 5.2 S 4.1 |20 B 5 F2l 48] 50| 21| 27
29030.5 |23.5 [26.7 [Ssw 5.2 |sw 6.0 [Ssw 8.2 |sw 4.1 |54 Bl & H5)11.7 .0 ] 5.3]3.3
30§27.2 |22.0 [24.5 |ssw 3.6 |wsw 4.0 |sw 5.7 |sw 11.8 |tk —IRg - & | F2 .0 ] 5.1 2.8
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=l EEEA EE3S IS TO0O0m| (06~18h) (18~F06h) | 7 | R [OOmF] 211
1]28.6 [20.7 [25.0 |NE 3.1 |ENE 4.0 |ENE 5.2 |ENE 8.7 | =i = H3[ 6.3 [15.0 | 6.6 |-0.2
2026.8 |19.8 [22.9 |NE 2.1 |E 5.0 |E 5.2 [N 3.1 | i H3|13.1 [30.0 | 5.4 |-0.8
3128.9 [19.0 |22.8 [SE 2.6 |ESE 3.0 |SSE 3.1 |NNw 1.0 | 2 H2f12.5 [20.0 | 2.8 | 0.7
4)28.8 [19.9 |24.5 |SE 2.1 |SSE 5.0 |s 5.2 |sw 6.2 |iF EREL H2[11.3 0| 45| 7.3
5029.8 [24.6 |26.6 |S 4.6 | 6.0 |S 6.7 |ssw  13.9 |2 EH%E Li]J1.6]60]68]29
6]31.8 [25.5 [27.7 [ssw 5.7 [SSW 4.0 [Ssw 5.7 |w 3.1 |2 MRk | H4l 7.3 150 7.0 1.8
7134.0 [25.5 |29.2 [ESE 1.5 |SSE 3.0 |ssw 4.6 |ENE 5.1 | & H4f12.8 | 8.0 | 6.4 | 4.2
8133.2 |26.6 [29.4 |sw 5.2 |sw 8.0 |[Ssw 6.7 |Sw 3.1 & H4§13.4 [20.0 | 4.5 | 0.1
933.4 [26.5 [29.2 |s 3.1 |ssw 5.0 [S 5.2 |Nw 3.1 i H4f12.9 |25.0 | 4.2 | 4.6
10031.8 [25.1 |27.4 [ssw 5.7 |ssw 8.0 [ 5.7 |wsw 2.1 ki H4| 7.1 [20.0 ] 6.1 ] 5.7
11§31.7 [20.9 [25.9 |wsw 3.1 |SSE 4.0 [w 3.1 [w 5.1 T H3| 7.4 0] 6.7 4.4
12029.6 [22.7 |25.5 [SE 2.1 |SSE 4.0 |SSE 4.6 |W 5.1 B H2| 6.3 |20.0 ] 6.9 ] 5.0
13]34.7 [22.2 |28.4 [wsw 6.7 |wsw 7.0 |sw 5.2 |W 9.8 2 — I H4| 9.2 |10.0 | 3.4 |-4.4
14]30.4 [21.7 |25.3 |ESE 1.5 |SSE 4.0 |SSE 5.2 |w 5.1 5 — IR H4| 7.7 | 80| 3.5 | 1.2
15033.9 [24.8 |28.1 [SSE 3.1 |s 3.0 |ssw 4.1 |w 2.1 sl2—meR - % | Hal10.7 | 6.0 | 4.0 |-1.3
16]32.7 [24.7 128.3 [SSE 2.1[s 4.0 [ 4.1 [wNw 5.1 ElZ—mws - % [ H4) 9.6 | 5.0 ] 2.9 [-0.4
17034.4 [24.0 128.9 [sw 2.1 |sw 5.0 |wsw 5.2 |sw 5.1 B [ H4f 6.0 | 40 41 2.5
18]32.9 [24.3 |28.8 [S 5.2 [wsw 3.0 S 3.6 |W 9.8 5 — AR F2f 8.5 |15.0 | 5.7 | 2.8
19033.1 [26.4 |29.1 [S 3.1 |SSE 4.0 s 5.2 |sw 7.2 T H4| 5.8 |15.0 | 5.2 | 2.1
20035.8 |25.7 |30.9 |ENE 1.5 |ssw 4.0 [sw 5.7 |Nw 15.9 |JEEEN i H4]10.6 050 1.8
21]36.5 [27.6 [30.9 [E 2.6 |E 4.0 [sw 2.6 |W 3.1 [z - F =R H4| 7.6 [25.0 [ 9.0 ] 5.4
22031.1 |25.8 [28.4 |ENE 2.6 |E 4.0 |E 4.1 |E 2.1 |=—nmg 2 H3| 46| 80] 6.7] 3.5
23132.7 |24.8 |28.1 [wWsw 2.6 |SSE 5.0 |s 4.6 |sw 7.2 |5 RE E R H5)11.7 0] 7.9 45
24]33.0 |26.4 [28.9 |S 3.1 |s 3.0 |sw 5.7 |SSW 5.1 | i H5[ 9.0 |10.0 | 8.6 | 4.6
25032.7 |26.2 [28.7 |sw 4.6 |ssw 7.0 | 5.7 |sw 6.2 |tk —H s R | H5]10.7 .0]86] 45
26030.8 [23.0 [26.4 [wsw 1.5 [SSE 3.0 [sw 4.6 [SSW 9.8 =W - & |2 H5] 4.5 [30.0 [ 8.7 ] 6.4
27034.3 |24.5 [28.3 |E 2.1 |E 3.0 |E 3.6 |SSE 5.1 | 1% — W H5|12.5 0] 82|35
28)32.6 |25.2 [28.1 |\NE 2.6 |ENE 5.0 |ENE 4.6 |ENE 7.2 |WEHEx 2 B2 [ H5) 5.8 [15.0 | 8.0 | 4.2
29030.4 125.0 [26.9 |NNE 3.1 |ENE 3.0 |E 5.7 |SE 9.8 |Zmnsx Hire—nng |25 T 27]10.0] 4952
30)31.5 |26.0 [27.8 |E 5.2 |SE 4.0 |SE 4.6 |SE 9.8 |=—IFrN B H5| 6.6 |15.0 | 6.5 | 5.5
31030.7 |25.4 [27.4 |SSE 6.2 |SSE 6.0 |S 5.2 | 10.8 | 2 2 i H5| 6.9 [20.0 | 8.5 5.5
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1 64E8 A
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H i | ) 1000m (18~oeh) | A4 | M 0OWF[ 21FF
1 25.4 [27.3 |s 4.1°1s 5.0 |SSE 5.2 |SSW .2 [ H5] 9.4 [20.0 | 8.5 ] 3.1
2 24.5 [27.2 |s 3.6 |sw 6.0 |s 4.6 |SSW .2 i H5]11.5 |15.0 | 9.2 | 5.3
3 24.4 |27.3 [SE 1.5 |SSE 4.0 |SSE 4.1 |ssw 1 I H5] 4.2 .01 93] 40
4 24.6 [27.9 [SE 3.1 |SSE 5.0 |SSE 4.6 |s 1 Bl 2 i H5] 8.7 |30.0 | 8.6 | 4.8
5 26.1 |27.5 |s 5.7 |SSE 7.0 |Ssw 5.2 |ssw  10.8 Fg—rEE | L] 3.1 0| 81] 5.6
6, 25.7 [28.0 [ssw 5.7 |sw 5.0 |SSw 4.1 |wsw 1 2 H4) 7.7 130.0 ] 9.3 | 4.7
7 26.0 [27.7 [SSE 2.6 |S 4.0 |sw 5.2 |SE .1 R i H5) 3.7 0] 591 2.4
8 25.2 [27.6 |sw 4.11s 4.0 |s 4.6 |SSW 1 i H5) 7.6 |15.0 | 7.3 | 4.2
9 25.0 [28.1 [ssw 3.6 |sw 5.0 |sw 4.6 |sw 1 i3 H5]12.8 0] 6.9] 49
10, 25.2 [28.2 |s 2.1 |SSE 4.0 |sw 5.2 |\ .1 2 H5) 9.9 |20.0 | 6.5 | 4.5
11 26.0 [27.7 [N 1.5 |ENE 4.0 |ENE 3.1 |E 1 Eefh— W o3| 2.9 0] 53] 4.2
12 24.9 [27.9 |E 1.5 |ESE 3.0 [sw 5.7 |SW L1 MR T H3]10.2 0| 43| 28
13 25.3 |28.7 N 1.5 |ssw 3.0 S 4.6 S 0[R2 | A H4) 9.8 | 80| 50 2.9
14 26.1 [29.1 [E 1.5 |SE 4.0 |s 3.6 |WNW 1 |HE e —me | H4L 9.2 0| 5.7 | 47
15 18.4 [21.0 [E 4.1 |ENE 5.0 |SE 1.5 |NNw L2 | K — W F3 -1 3.0 3.3 [-1.6
16 19.3 [24.0 N 1.5 [S 3.0 |sw 4.6 |NNW RS H3) 6.2 [10.0 ] 2.9 4.0
17 23.8 |26.5 [SE 1.0 |sw 4.0 |sw 5.2 |sw R r2] 1.7 0| 4.4 1]-0.5
18 25.4 [29.4 [sw 8.2 |sw 12.0 |sw 8.2 |sw .9 W H4)Q10.2 |30.0 | 3.5 | 2.3
19 27.6 129.3 [sw 6.7 |Ssw 8.0 [ssw 7.2 |sw .8 | H4)11.2 0 7.7 40
20 25.7 [30.0 [sw 8.8 |Wsw 4.0 |NNE 3.6 |w .8 | H4Q12.3 |25.0 | 7.7 | 4.9
21 23.2 [25.7 [E 3.1 |ENE 1.0 |[SSE 2.6 [Ssw 1| H3] 7.8 |30.0 ] 6.8 | 4.5
22 21.0 |25.7 [ESE 3.6 |E 3.0 [E 4.6 |NE 2.1 |#E H3) 7.9 |10.0 | 5.6 | 2.4
23 18.7 [21.1 [N 5.7 IN 5.0 [N 4.1 |SSE 8.2 |& F2 0 42 2.2
24 19.0 [25.6 |sw 4.6 |sw 8.0 |sw 8.8 |sw 9.8 |2 F2] 5.5 0] 20127
25 23.8 |25.5 [E 5.2 |E 4.0 |ESE 3.6 |NNE 2.1 |2 = 3] 0.9 ]20.0] 49 2.3
26 22.8 [25.5 [ENE 2.1 [E 3.0 |SE 3.6 |S 5.1 |2 2 F3f] 1.5 1220 | 6.3 | 3.9
27 22.0 [24.8 [N 3.1 |NNE 1.0 |ENE 4.6 |NNE 1.0 |Z&—W5g Bl F3] 2.3 0 42132
28 18.2 [20.7 |NNE 4.1 |NNE 4.0 N 3.6 |E 8.7 |Fym~ 2 ifi F3 .0]6.9]5.0
29 17.9 [19.2 [N 5.7 IN 6.0 [N 5.7 |ESE 9.8 |l EF 2 [y F2 5] 3.4]-0.2
30 20.3 |25.1 [E 0.5 |SE 2.0 |s 6.2 |ssWw 12,9 |2 B2 [l Faf 1 0] 1.5] 5.6
31 25.9 [28.7 [sw 12.4 |sw 8.0 |Ssw 7.2 |sw 32.9 |BfhRE - KE |0 TJ70]150]83] 3.0
TR 1 649 A
= =1 0 T
# IR G [T 0 EOl I E
°C m/ s &I EqN S & °C
A 5K | 7 (3 (3 T 5F T0O0Om (18~%06h) | A | 09FF[ 21FF
1 24.3 [27.8 [N 1.5 [SE 3.0 |SSw 4.6 |ENE 1.0 2 — H4l11.2 [12.0 ] 8.3 [ 3.6
2 24.6 |27.7 [sw 4.1 |ssw 4.0 |ssw 5.2 |SSW 5.1 R F2li0.5 0] 6.2]5.0
3 23.2 |26.4 [N 2.1 |ESE 3.0 |SE 3.6 |SE 2.1 204N - E H3| 8.4 [15.0 | 7.7 | 3.4
4 21.0 |24.2 NNW 2.1 |NNE 1.0 |ESE 2.1 |SSE 3.1 K - & F3]o.2 0] 33]3.3
5 20.9 [22.2 [N 2.1 N 6.0 N 3.1 |Ssw 7.2 B F3 —|10.0 | 3.9 ] 2.6
6, 21.8 [25.6 [E .o [s 5.0 [S 5.2 |SSw 8.7 I — F3] 3.5 0] 37]5.3
7 25.2 |27.4 [sw 4.6 |s 8.0 |s 6.2 |ssw  12.9 B T | 64][3.0]82] 78
8 25.6 [28.2 [sw 9.3 |sw 9.0 |sw 8.8 |sw 21. 1 S H4)11.0 |25.0 | 8.2 | 2.6
9 22.1 |25.5 NNE 2.6 |E 2.0 |s 2.6 |E 6.2 e -3 | H3| 4.2 [30.0 | 7.0 | 2.5
10, 21.4 |24.2 [E 1.5 |ESE 3.0 |s 2.6 |Nw 2.1 | s |2 H3) 5.9 |10.0 ] 6.2 | 3.1
11 20.8 [23.7 NE 2.1 [E 5.0 |ENE 2.6 |ESE 4.1 2% —BEE [ F3l 2.3 11220 6.1 [ 3.4
12 20.6 [24.1 |NE 1.0 |E 3.0 |ESE 2.6 |wsw 5.1 | & H3) 8.4 |25.0 | 5.8 | 3.9
13 23.1 [25.9 |S 1.5 |sw 5.0 S 7.2 |SW 6.2 |=&NE e H5] 6.1 0] 7.2 409
14 24.5 |27.6 [E 1.0 |ENE 2.0 |s 2.6 |WNW 12,9 |EWEx B H4) 5.9 |15.0 | 3.8 | 3.2
15 19.6 [22.5 INE 3.6 |E 6.0 |E 6.2 |NNE 8.7 |biE i H3J10.8 |30.0 | 8.7 | 3.2
16, 18.0 [22.0 [E 2.1 |SE 3.0 |SSE 3.6 |SSW 2.1 P % H5]10.8 0]l 70] 1.6
17 21.0 [25.0 [ssw 4.1 |sw 4.0 |sw 4.1 |SSw 7.2 |MRMANE  |EREE H4) 7.4 |20.0 | 1.2 | 4.2
18 22.9 [25.2 [sw 5.7 |Ssw 7.0 |Ssw 6.7 |sw 6.2 & H5] 1.8 |10.0 | 5.1 | 2.6
19 24.0 [26.2 [sw 7.7 |sw 7.0 [sw 5.7 |sw 11.8 B G H4] 8.3 |30.0 |10.0 | 3.5
20 24.0 |25.8 [wsw 2.6 |ssw 6.0 |ssw 6.2 |Wsw 4.1 |2 AR Fi] 2.2 0] 5.2 49
21 25.0 [26.8 [sw 8.8 |sw 10.0 [sw 7.7 [sw 14.9 [ZHx g 5 Lif 7.7130.0 | 7.7 ] 4.4
22 22.7 [26.9 [sw 5.7 |sw 6.0 |sw 5.2 |sw 8.2 | ] F2l11.1 0] 8031
23 21.9 |23.5 |NE 2.1 |E 5.0 |E 4.1 |\w 4.1 |B—m 2 F3f 2.3 1150 7.4 | 3.4
24 21.3 |23.1 [N 2.6 |NNE 2.0 |NNE 2.1 s 4.1 | 2% R % 25 F3] 0.3 .01 401 3.9
25 21.8 |23.6 [NNE 1.0 IN 3.0 |ESE 3.6 |s 5.1 |Z&2—mN ] F2l 0.8 40| 421 3.5
26 18.8 [20.9 [N 2.6 |NNE 3.0 |NNE 2.1 |ESE 5.1 |H—mz 5§ F2 5] 38] 1.8
27 18.6 [19.1 |N 3.6 N 4.0 N 3.6 |ENE 3.1 |’ B F2 0| 29| 2.8
28 18.9 [21.4 |NNE 2.6 N 2.0 [E 4.6 |NNE 6.2 |2 = F3] o. 0|55 4.4
29 19.9 [21.0 |N 2.6 |NE 3.0 N 3.1 |ESE 6.2 |ZEMrx [ Kifd F3 0 6.9 29
30 20.1 |25.4 |sw 6.2 IN 3.0 |Nw 7.2 |w 15.9 | S TJ]o9o0]|250] 59| 49
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TRk 1 6410 A4

o X1 B Firl "
# AR B BOHE ES e B S E
C m,/ s EET K IH] E S £ °C
pl e TEE] ] 09k T 2 F T 50 TO0O0m| (06~18h) (18~F06h) | 7 | R k[ OOWF[ 21WF
1§26.9 118.3 [22.0 |N 2.6 |E 4.0 |SE 3.6 |NNE 7.2 Pl H2[11.1 [25.0 | 4.0 |-1.3
2§28.0 [17.5 |23.4 |ENE 0.5 |Wwsw 4.0 |sw 5.2 |w 6.2 e e e | H5]10.8 | 8.0 | 2.6 | 1.7
3]24.6 [15.4 |18.7 [N 2.1 |NNE 3.0 IN 4.6 |ESE 8.2 [B§] F3 -1 3029 1.1
4§17.4 |15.4 |16.5 |N 5.2 [N 5.0 [N 5.2 |E 12.9 K F3 -l 60|22 46
5016.7 |15.7 |16.2 [N 6.7 IN 6.0 IN 5.7 |[ENE  14.9 i & 2 L3 -1 25| 49] 29
6]24.4 [15.7 [19.3 s 0.5 [SE 2.0 [SE 1.5 [WNW 4.1 G — A H3l 8.8 [30. 029 1.3
7023.8 [15.1 [19.4 [N 3.1 |ENE 3.0 |ESE 2.1 |SE 1.0 HihE H2J11.0 |30.0 | 6.0 | 1.4
8]18.9 |15.0 |16.5 |N 3.1 N 4.0 N 4.6 |SSE 6.2 K F3 -1 50| 16]30
9019.2 |14.9 [17.1 N 4.6 IN 4.0 |Nw 4.1 |s 8.7 S [ T -115.0 |-0.6 | 1.5
10019.1 [17.2 |18.0 |N 1.5 |ENE 3.0 |E 2.6 |SE 4.1 I 2 2 F3 -120.0 | 3.3 ] 2.9
11]20.5 [17.0 ]18.5 [NNE 1.5 |E 1.0 |E 1.0 [sw 5.1 2 F3loa]s50|24]47
12022.2 [18.4 |19.6 [NE 1.0 |ESE 2.0 S 0.5 |sw 8.7 i — AR F3los] 40| 28] 40
13019.9 [17.5 ]19.0 [NE 2.1 |NE 2.0 |ENE 4.1 INE 7.2 |2 B R F3 -] 8.0 50| 5.4
14]19.6 [15.4 |17.3 |N 2.6 [N 2.0 |E 3.1 |E 6.2 |BH%—mE |2 F3) 1.9 ]20.0 | 6.4 4.0
15022.4 [13.2 |17.9 |N 5.2 |NNw 6.0 |NNE 2.6 |Nw 8.2 P iR H2§10.9 [30.0 | 5.8 | 1.4
16]16.6 [13.5 [15.0 [N 3.6 [N 4.0 [N 4.1 |\w 3.1 |2 5 — A F3 -fts.o] 2701
17]20.0 [13.0 |16.4 [NE 3.1 |NE 4.0 |ENE 4.1 |NNE 9.8 [Pt NS H3f10.6 |20.0 | 6.4 | 2.0
18]21.3 [11.3 |16.5 [N 4.6 |NE 2.0 |NE 2.1 |SE 6.2 | B G H3| 9.3 [15.0 | 6.1 ] 2.2
19016.9 [14.7 |15.5 |N 2.6 |N 4.0 IN 3.6 S 8.2 | K F3 -l60| 15[ 1.7
20§24.4 |15.3 [17.1 |N 5.7 N 5.0 |NNE 3.1 |E 9.8 | ki Kifiges  E| T -1 3.0 49|20
21]23.4 |14.7 [18.6 |N 6.2 |NNE 3.0 |NNE 3.6 [INNE 231 |f—Wpfgng [ —Rps H3) 2.3 | 80| 46 0.1
22§24.6 |14.5 [19.0 |N 2.6 |sw 5.0 |sw 6.2 |SSW  11.8 [m§ S H4| 8.5 [10.0 | 3.2 | 3.3
23020.4 |14.9 [17.4 |N 4.6 |E 4.0 |E 3.6 |SE 1.0 |FEkE el H2| 6.7 [25.0 | 7.0 ] 3.2
24]18.1 |13.0 [15.5 |N 3.6 |E 3.0 |E 1.5 |N .o |2 B H3| 0.4 |25.0 | 7.5 | 5.4
25021.5 |14.3 [17.6 |N 3.6 |E 3.0 |E 1.5 |sw 10. 8 |if 2 Hs5) 7.1 |10.0 ] 1.8 ] 1.0
26f18.4 [12.6 [16.2 |\NE 2.6 |E 3.0 [sw 2.6 [SE 7.2 | it F3 -[so]55]22
27015.8 |11.5 [13.0 |NNE 6.2 |NNE 4.0 |ENE 4.6 IN 11.8 |2 B H3| 1.1 [20.0 ] 8.6 | 6.7
28)16.4 | 8.6 [12.4 |N 4.6 |NE 3.0 |E 3.1 |ENE 4.1 g S H3f10.2 [30.0 | 7.9 ] 0.9
20)18.6 | 8.4 [13.5 |N 3.6 |E 3.0 |E 2.6 |sw 6.2 |mEm—nEa |2 H3| 9.6 |15.0 | 4.3 ] 3.1
30013.9 |11.8 [12.7 N 4.1 N 5.0 [N 5.2 |SE 7.2 | N F3 -leo| 19| 1.1
31§20.5 |13.9 [17.1 |NNw 5.7 |NNE 3.0 |NE 1.0 |ESE 5.1 |2—mFrN 7 <% | F3] 0.9 [20.0] 3.3 ] 3.6
- PR 1 64E1 1 H
B Xl H i 3
# &R &1 JE K & ol i TE
C m,/ s A &I EN S & °C
=0 1B RS 0 9y 1 21 T 50F TO0O0Om (06~18h) (18~306h) | A | 1 km|[ OOWF[ 21MF
1f22.0 116.9 [19.1 |\w 0.5 |ESE 2.0 |S 3.6 |S 8.2 [ —sg - & [ - & Lol .2 ]10.0 | 1.4 ] 4.3
2f21.1 [14.9 |17.7 N 2.6 |ESE 2.0 [E 3.1 INE 3.1 |Z®A%EE ER H4) 5.6 | 1.8 ] 5.2 | 5.7
3123.1 |15.7 |18.8 [NE 1.0 |ESE 2.0 |sw 5.2 S 5.1 | —mpa 75 H4| 8.2 | 40| 6.7 ]| 4.7
4021.9 [13.2 [17.0 |N 1.5 |NNE 2.0 |SE 2.6 |WNW 12,9 |pemE N H2) 9.9 [15.0 | 44 ] 6.0
5020.7 [12.4 |16.7 |N 2.1 |E 2.0 |ESE 1.5 |w 2.1 |iE—ma 7 H2| 8.8 [20.0] 3.4 3.1
6§20.5 [14.8 [17.4 N 2.6 [E 3.0 |ESE 2.1 [sw 6.2 |G R H2f68] 70]54] 1.8
7121.6 [13.8 |17.1 [N 2.1 N 3.0 |ENE 1.5 |sw 2.1 | 5 — AR H3| 89| 90]o06] 3.3
8l18.2 |14.3 [16.2 |N 3.1 N 4.0 |E 2.6 N 4.1 | BN 2R R F3] 0.4 [15.0 7.9 3.6
9§20.6 |13.1 |16.5 |N 2.6 |ENE 1.0 |SE 2.1 [wsw 3.1 g H2| 81| 50] 38|05
10020.8 [12.9 |16.7 |N 3.1 |E 3.0 |E 2.6 |SE 4.1 2 sl 86| 70 1.2]3.8
11212 T1a.5 T18.2 [calm 0.0 [S 3.0 [sw 4.6 [Ssw 10.8 - F3loz2]3o0]31]22
12]21.1 [16.6 |18.4 [wsw 3.1 |NNE 3.0 |NNW 3.1 |wsw 7.2 Wi 2wz | F 2] 0.1 [10.0 |15.8 | 0.4
13]18.3 [12.9 |15.1 [N 4.6 N 3.0 |E 4.6 [wNw 12.9 B —IE H1| 6.4 [50.0 | 8.0 ] 5.6
14]14.7 [11.7 ]13.3 |N 3.1 N 2.0 |NE 2.1 |E 3.1 2 F3 —l15.0] 3.0 | 4.7
15014.0 [10.6 |12.2 |N 3.6 [N 7.0 N 2.6 S 10. 8 52— G L3 —| 20] 09|12
16]17.3 [11.6 [13.9 [NNE 1.5 [ESE 3.0 |E 2.6 |W 8.7 it H1f 7.1 [20.0 | 4.2 ]-0.4
17018.0 | 9.3 |13.3 |N 3.1 N 2.0 |E 2.1 |Ssw 5.1 %2 H2| 6.9 200 0.9] 1.0
18]14.4 [10.3 |12.0 |N 3.6 |N 4.0 IN 4.1 |E 5.1 T4 — R F 3 —[20.0 | 1.6 | 1.4
19013.8 [10.5 |12.8 [NNw 3.6 [N 5.0 [N 5.2 |SE 2.1 i — AR L3 —| 50 17|41
20§18.1 |12.3 |14.6 |N 2.6 |N 2.0 |ESE 2.6 |NE 8.2 W — I H1) 6.4 [100 ] 7.1 ] 4.2
21f17.6 J10.1 [13.7 N 2.6 |NE 1.0 [ESE 2.6 [ENE 1.0 fif H1f 9.3 2002471 3.7
22§18.1 1 9.9 [13.7 |N 3.6 |N 3.0 |ESE 3.1 N 5.1 i3 H1| 9.3 [30.0 ] 4.6 ] 0.4
23)17.8 | 9.5 [13.6 |N 2.6 |E 2.0 |SE 1.5 |sw 7.2 g H2| 9.4 [200 ]| 1.0 ] 0.6
24]18.2 110.0 [13.9 |N 4.1 |E 3.0 S 1.5 |ssw 8.7 IR A H2f 7.9 [15.0 |-0.5 |-2.9
25019.3 110.7 [14.6 |N 2.6 [N 5.0 |NNW 4.1 |wNw 15,9 B 2 i H1j 9.1 120 42 ] 0.6
26]19.0 [ 9.9 [14.6 |N 2.1 |ESE 2.0 [S 3.1 [ssw 13.9 i R [ L 1) 1.9 [12.0 [ 1.3 ]-3.3
27020.5 |12.7 [16.9 |N 6.7 |NW 1.0 |ESE 2.6 [wNw 18.0 i3 H1| 9.3 [30.0 ] 9.0] 0.0
28]17.9 110.7 [13.8 |N 4.1 INE 3.0 |NE 1.5 |s 3.1 B 2o A2 H1| 8.2 [30.0] 2.9 4.5
20)14.6 | 9.6 [12.1 |N 2.1 |NE 2.0 |E 2.6 [N 5.1 i3 H1| 4.5 [20.0 | 3.3 ] 5.3
30013.3 | 8.0 [10.5 |N 4.1 IN 5.0 |NE 2.1 |SE 5.1 B I H1| 7.0 |15.0 | 44| 1.4
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TR 1 641 2 A

ES X1 B Firl 3
F# AR B JELOE K = E

C m,/ s EET K IH] N I £ °C
=l EEI A EES 0 O T 20F 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
1f14.4 ] 8.8 [11.1 [N\ 1.5 |ENE 2.0 |ESE 2.1 [WNW S [ [ H2] 6.7 [20.0 | 2.0 [-1.1
2§16.8 | 7.6 |11.7 N 5.7 |NNE 5.0 |NNE 4.1 |SE 2.1 |wF N H1] 8.7 |25.0 | 4.0 [-0.8
sfi7.1 | 5.2 |11.0 [N 2.6 |ESE 3.0 |ssw 4.6 |SSW 8.2 | i3 H2] 8.2 |25.0 |-1.2 [-4.3
4}16.6 | 7.8 |10.9 N 2.6 |ENE 1.0 |NNE 2.6 [SSW 3.1 | B% B | REM F3) 0.2 |10.0 [-8.5 |-2.1
5023.5 | 8.2 |18.2 [sw 12.4 |WSW  13.0 |WSW  10.8 |W 19.0 | - KJE it Hi) 8.7 |40.0 |-3.3 | 7.1
6j14.4 | 8.7 |11.6 N 9.3 IN 7.0 [N 4.6 |\W 18.0 | [ H1] 9.2 [50.0 | 8.4 | 3.9
70117.1 | 6.3 |12.6 [NNW 0.5 |sw 9.0 |sw 7.2 |SSW  19.0 [WE—HEE I Fi1] 7.1 |15.0 |-1.2 |-4.3
8j16.7 | 7.6 |12.3 N 2.6 |NNE 3.0 [E 3.1 |\w 7.2 | s — 2 H2| 9.3 [15.0 |-1.0 | 4.7
9f12.0 | 9.3 [10.4 |NNE 3.1 |NNE 4.0 |NNE 3.1 |Nw 3.1 |2 = F3f] 0.5 1220 | 5.7 | 5.2
10§15.4 | 9.2 [12.0 |N 5.2 |ESE 2.0 |E 1.5 |\ 2.1 | 2% T H e e H2| 5.2 |10.0] 1.6 |-1.0
11]18.0 | 8.6 [12.9 [NNw 1.0 IN 6.0 |E 4.1 |Nw 11.8 | 1% — A Hif 9.2 [20.0 [-1.0 ] 3.7
12§10.7 | 6.9 | 8.3 N 4.1 IN 5.0 [N 5.2 S 6.2 |=—mFrN B F3 - 70| 3.4 0.6
13017.4 | 7.8 |11.7 |N 2.6 |N 7.0 [N 4.6 |WNW  10.8 [W B B Hif 8.1 100 1.1] 5.3
14§11.9 | 8.3 | 9.8 |NNE 2.1 |E 5.0 |E 3.1 |ssw 2.1 |ig B H2] 5.8 |30.0 | 7.3 |-1.1
15012.0 | 7.4 [10.0 [N 3.6 [N 3.0 |N 3.6 |s 8.7 |Eiix [ BN I3 -l12.0 | 0.4 | 1.9
16§16.7 [ 9.5 [12.8 [w 1.5 [S 3.0 [E 1.5 [Wsw 2.1 |wF i H1] 8.5 [20.0 ] 3.3 ] 6.6
17§14.4 | 7.3 [10.2 [N 4.6 IN 5.0 |NNW 1.5 |[wNw  10.8 |0 BRI H1] 9.2 [30.0 ] 8.1 ] 2.1
18]13.4 [ 6.0 ] 9.7 [N 2.6 |ESE 2.0 |ENE 1.5 |s 8.2 |WE—MpE | H%EN H4] 8.7 |20.0 | 2.1 [-2.5
19§13.2 | 8.0 |10.4 |NNE 2.6 |E 5.0 |ENE 4.6 |Nw 4.1 |FEHE—RFN [ZRF2 W H3| 5.1 |40.0 | 3.6 | 6.2
20012.1 ] 7.9 ] 9.9 |N 4.6 [N 4.0 |N 2.6 |SSE 9.8 |B—IF[N e T F3 -112.0 | 0.9 |-0.4
21f12.8 | 8.4 |10.2 [N 5.7 N 4.0 IN 3.6 |[WNW 17.0 [HERE T Hif 4.8 130.0 | 6.9 | 6.1
22012.2 | 6.8 | 8.8 [NNE 3.1 N 2.0 |ESE 1.5 |WNW 12,9 | I — 2 Hif| 7.8 [30.0 | 4.4 | 1.4
23]11.5 | 6.0 | 7.6 [N 4.6 IN 4.0 IN 5.7 [WwNW 18.0 M 1% 2 H1] 8.2 [30.0 | 53] 2.9
24110.1 | 5.3 | 7.8 N 3.6 |NE 2.0 INE 2.1 |\w 5.1 |2 i B ih— g H3) 2.6 |50.0 | 3.0 | 2.7
25011.6 | 4.5 | 8.1 N 4.1 IN 2.0 |ESE 3.1 |sw 2.1 | IS H2) 8.7 115.0 ] 2.0 ] 0.0
26]10.9 | 4.2 | 7.5 [NNE 1.5 [N 6.0 |NE 2.1 |wNw 7.2 |i§ B Hi] 7.3 |20.0 |-1.1 | 3.2
27010.7 | 4.8 | 7.7 N 2.1 |E 3.0 |E 4.6 |wsw 6.2 |mfH 2 2 I 2o A2 Hif 8.1 15,0 1.7 ] 2.2
28011.5 | 4.7 | 7.5 [N\w 3.6 |NE 2.0 |SE 2.6 [WNW 170 |W5—ReEE iy | H1] 5.1 [30.0 | 3.6 | 5.2
29] 6.3 1 0.9 3.0|N 5.2 IN 6.0 |N 5.2 |wsw  11.8 |W#%E BN L3 -1 60 36|27
300 9.3 2.4 5.4 |N 4.6 N 4.0 N 2.6 [WNW  15.9 | 1% 2 H1] 8.7 |50.0 | 49 ] 0.1
31 40 0.1 ] 2.1 |N 3.1 |N 7.0 N 6.7 |s 9.8 |E2HF 14 L2] 0.4 |20.0 ] 0.0 | 1.5

R 1 7THE1LA

ES X1 B Firl 3
F# R B JELOE K gl x| R E

k¢ m,/ s A &IH BN I B
pl e TEE] ] 09 T 20 T 50 TO0O0m| (06~18h) (18~F06h) | 7 | R km| 00WF]
189 1.5] 45N 6.2 |N 5.0 |NNE 3.1 N 17.0 | — M | H1f 5.1 [30.0 | 2.0
2} 9.3 [-0.7 | 4.7 INNE 1.0 |NE 2.0 |s 2.6 |\ 9.8 B % H2] 9.5 |40.0 | 3.3
313.2 | 1.6 | 8.6 |Nw 2.6 |sw 9.0 |sw 6.7 |sw 9.8 |42 = H4| 6.4 |50.0 |-2.1
4f18.0 | 6.5 [12.7 |wsw 4.6 |sw 9.0 |sw 5.2 [wsw 9.8 |iE—MeRN 2 H4| 7.8 |30.0 [-4.5
51 8.6 | 3.0 ] 5.4 |N 10.3 N 8.0 |NNE 4.6 |wNw 4.1 | i H1| 8.5 [40.0 | 9.0
6] 5.6 | 1.4 | 3.1 |N 4.1 N 3.0 [NNW 4.1 |SSW 12,9 |EEN [ F3] 1.1 ]15.0] 0.4 .
7115.2 | 2.1 ] 7.7 N 1.5 |wsw 2.0 |W 7.2 |W 8.7 P B F1] 9.2 |10.0 |-4.4 | 6.
8] 8.6 | 3.5 57N 5.2 N 6.0 |NE 1.5 |[WNW  14.9 |ZHFx g B 2 2 Hi| 1.0 |50.0 | 7.5 | 5.
9f10.6 | 1.4 | 4.8 |N 1.0 |ENE 2.0 IN 8.8 |W 8.2 |ME#&—WpE  |Zfh WG H1| 8.8 |25.0 [-0.1 | 3.
100 8.9 1.5 ] 5.2 N 2.6 |SE 3.0 |Ssw 6.2 |W 8.7 |n DN H1) 8.8 |30.0 | 3.5 | o.
i1 | 3.3 ] 6.2 [wsw 4.6 [sw 6.0 [W 4.1 |wsw 8.7 | I H1] 9.4 [30.0 | 3.9 ] o.
12010.3 | 2.3 | 4.8 |sw 4.6 N 7.0 [N 7.7 |Wsw 9.8 | N H1] 9.2 |25.0 | 1.4 | 5.
130115 [-0.7 | 5.3 |w 2.1 IN 2.0 S 4.6 [WNW  20.1 |mF I H1) 9.4 |50.0 | 6.6 | 3.
2 [ 2.1 6.7 N 3.1 |NNE 2.0 |E 4.6 |NNW 3.1 |MEtkE BN H3) 6.9 |30.0 | 2.2 | 6.
15 7.7 ] 2.4 | 3.4 [N 6.7 IN 6.0 |N 6.7 |ENE 9.8 |if§ 5] L3 —| 80 46| 3
) 7.2 [ 2.8 | 5.7 [\w 6.7 |\W 6.0 N 6.2 |NE 20.1 [N A F2 —]50]24]s.
17§12.5 | 3.7 | 7.8 |N 2.6 |N 6.0 |N 5.2 |Nw 5.1 | SIS H1) 8.4 |20.0 | 4.2 | 5.
18§12.7 | 4.3 | 8.0 N 5.2 N 4.0 |ESE 3.1 |wNW 108 |6 Bl 2 i H1)] 8.7 |50.0 | 6.8 | 4
19010.5 | 5.1 | 7.3 [w\w 3.1 N 2.0 |E 3.1 |SSE 7.2 W2 2 I — Li] 6.5 |12.0 | 49| 3.
20012.9 | 3.2 | 7.0 |NE 0.5 |s 2.0 |WNW 5.7 |wNw 9.8 | DN Hi1] 9.1 ]|15.0] 2.6 | 6
21§10 [ 3.3 ] 6.2 W 4.1 |NNw 4.0 N 6.7 [Nw 14.9 | L H1] 7.6 |30.0 | 6.5 | 6
22010.9 | 1.6 | 5.7 [N\w 5.2 IN 5.0 INE 2.6 |\ 13.9 |1 ik H1| 9.8 |50.0 | 8.7 | 3
23] 5.1 | 1.4 3.1 |N 5.2 IN 5.0 |NNE 2.1 |ssw 4.1 |2 0 RS L3 —[30.0 ] 3.0 7
24]11.5 | 1.3 | 5.6 [N 3.1 |SE 2.0 |Ssw 5.2 |SSE 6.2 |msmyx e |mE H4 | 5.9 [10.0 | 4.9 [-2.
25012.7 | 4.0 | 7.8 |N 5.7 IN 3.0 IN 2.6 [ww 170 |mEss e I A2 Hif| 7.9 [30.0 | 6.2 ] 7.
26] 5.7 ] 1.9 | 3.6 [NNE 2.1 |NNE 3.0 |NNW 2.6 |NNE 6.2 |m—msmpnn | % R L3 1.4 45511
271 9.2 | 1.4 | 5.3 |N 1.5 |ESE 2.0 |SE 2.1 |Nw 6.2 |WfH 2 I — H2| 4.8 |25.0 | 3.9
28]11.1 | 2.5 | 6.4 [N 3.6 |NE 2.0 INE 2.6 |NNE 4.1 | ST [ H3] 6.2 |12.0 ] 2.3
20)11.4 | 3.6 | 7.3 |N 3.1 |NNw 1.0 |N 1.5 |s 9.8 - | R H4) 2.2 |10.0 | 1.9
30012.3 1 4.0 | 7.3 N 7.2 N 8.0 [N 3.6 [WNW 149 [HER—ME BT H1] 8.4 |70.0 |10.6
31010.1 | 3.0 | 5.3 |N 2.1 |SE 4.0 |sw 7.7 |W 7.2 | S H1] 9.2 |30.0 ] 6.7
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